H @@G Ua rd “hygienic fencing

( SINGLELEAF )

Hinged Door
ASSEMBLY INSTRUCTIONS




BlueGuard Single Leaf Sliding Door

ASSEMBLY INSTRUCTIONS
830101/ 830041B
830102 / 8300438 16501010 /16501020
16501015 /16501025 I
X1
4SKBLGHIS
© 16501040 A
830042C-FO1 830042C-F02 830042C-F03 DIN 1587 M8
X2 X2 X 11 ' X1
o 4KBLGAGGAC X4 -~ ——————— : - ~
| |
| 830021 830026A ISO 4017 M8 X 25 ISO 7093 @8 @24 |
| |
| |
| ~ |
@ |
| |
: x 8 x 8 x 8 x 8 :
L )
o 4kBLGBATHIS - """ """ """~ == =~ |
| |
| 830021 830026A 830913 830914 ISO 4017 M8 X 45 ISO 7093 @8 @24 |
| |
[ _ [
| |
@ @ :
| ~ |
| |
| X1 X1 X2 X1 X2 X2 |
l |
N\ J

2/10



BlueGuard Single Leaf Sliding Door

ASSEMBLY INSTRUCTIONS
3
oo @
oo
e - 830021
oo &
."@ ” - ]
gllo & - - 0
oo
oo Q| 0
T 830042C - -
! 830042C-FO3 |
| |
| |
| |
| |
| |
@ | |
| . |
oo & \ | |
: | ! !
oo 1 1
| 830042C-FO1 |
| |
| |
| |
- ‘ \
| |
| |
| |

BLG-106P 3/10



BlueGuard Single Leaf Sliding Door

ASSEMBLY INSTRUCTIONS
a N
@ 30021
ssoozea 1@ || 0. @ e300z
oy
ISO 4017 M8 X 25
\ /
a N
gz0026A | ® 0
0
ISO 4017 M8 X 25 %@\%\/; %
\_ /

4/10




BlueGuard Single Leaf Sliding Door

ASSEMBLY INSTRUCTIONS
4 I
™
- ‘fa/ @HE"‘-.
@ e
830021 :
.
\_ J
4 I
12 el
@& 1o
830021
%ﬁ%
\ J

BLG-106P 5/10



BlueGuard Single Leaf Sliding Door
ASSEMBLY INSTRUCTIONS

~

830021

6/10

830026A
S~ . 1SO 4017 M8 X 25
[l
x‘\_""-\
@ (T~ = R,
‘ZE el >~
Jel s 830102 / 8300438
Fiing 16501015 /16501025
o || )
‘@
~o el o
®
G|0
(VR
[VRIRY)
Qjo
cjo
cfo
oo
{a ]
RE
®
o0
0|0

830021 %\ ~

%@@
ISO 4017 M8 X 45 \\

ISO 4017 M8 X 25 7
830026A

ISO 7093 @8 @24
830913
830026A

.

-

1SO 4017 M8 X 45
1SO 7093 @8 @24
830913
830914

830026A ©. @
830021

(CR

®




BlueGuard Single Leaf Sliding Door

ASSEMBLY INSTRUCTIONS

Q
@
DIN 1587 M8

&
DIN 1587

-

/ ADJUSTABLE DIRECTION

Qo
o

( ’
830913

:%aéiﬂ

/

/5

BLG-106P 7/10




BlueGuard Single Leaf Sliding Door
ASSEMBLY INSTRUCTIONS - LINEAR

8/10



BlueGuard Single Leaf Sliding Door

ASSEMBLY INSTRUCTIONS - ANGULAR 90°

BLG-106P 9/10



BlueGuard e

NOTES




